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[TO1-FM109 Test 0]

[pre-CU] mc_peds.050407015921_0_FM109_Pshp_calu_collect_ext.txt [ 25.0C]

[CUold] muonPeds.330000869_BT13_IDEAL_digi_TO01.txt [ 25.0C]

[CUnew] muonPeds.digitization-latte-v1r030603p2_700000277_digi_DIGI_TO01.txt [ 25.0C]




T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, LEX8]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, LEX1]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, HEX8]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, HEX1]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] statistics for Pedestal Position [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, LEX8]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, LEX1]

ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units ADC units

ADC units

4 n 4 w4 n 4
3 fx+ cOL 0 Trow| £ 3(Y+COLO “ow:| £ 3 fX-COLO —on | = 3EY-coLo w1
1: EOWZ 3 1: ROW 2 3 1 : ROW2| 3 1: ROW 2
0E oo . —ROW3| O ¢ AOWE[ O g F g ZROWE O 0F e —RoW 3
4E a 4 a 4E Q 4E
2F < . < 5F < E
3E 3 3 3E
-4 -4 -4 -4
4 » 4 i w4 » 4 o T o ilm‘epi';as'e
3 flx+COL1 Trond = 3flvecoL1 o = 3 = 3fy-coL1 o
21 : ROW 2| g 21 3 ROW 2 :=1 21 g 21 : ROW 2
0F o —Rowsl O ¢ (S O 0E oo . -ROW 3
-1E a 4 [= ] a 4
2E < . <. < HE
3E 3 3 3
-4 -4 -4 -4
: 40.2-00.20.20.60.8 1 1.21.E|IBIm1 .eEZ ?.Zazs.el
4 [—ROW T Q 4 [CROW U ﬂ 4 ﬂ 4 p_r(uwu
ga+ COL 2 “row1| ‘B g Y+ COL 2 row1| B g = gE!- COL 2 row 1
1E Row2l 3 GF ROW2| 3 4 S 4E ROW 2
0F eoce soe =BV O 0F  eeve . WS O o O 0E eeve oo —s ROV
AE a 4 (=t o 4
2E < -2 < -2 < -2F
S E -3 -3 -83E
-4 br2072-0- 0204078081 T2rA16r8 2 224 A8 -4, AT161: T2 “45:40-2-00-20:20:608 1 T2TAL6 1822223
4 Time phase o 4 o 4 Time phase w4 Time phase
3 fxe COL3 “ow| £ 3HY+cCOL3 Cows| = 3f-coL3 “owr| = 3fY-coL3 ow s
1E Sgwg S 4E ROW2( 3 ‘4 F ROW2{ 3 “4F ROW 2
0F e = O 0F oo —eolWS O 0F oo EOWS O oF e —e [HO0D
1E [=] a 4E o 4E
2FE < <-2F < -2F
SE S3E -3E
-4 A16t; 22 - A, 16t T22; “A540-2-00-2020:608 1214t 61822224
a Time phase @ 4 w4 Time phase " 4 Time phase
3 §+ COL 4 row = 3fY+ COL 4 oW 1 = 3 EE- COL 4 row = SE|!- COL 4 oW 1
21 3 Sgaz =] 21 3 row2| 3 21 3 rowW2l 3 21 3 ROW 2
. o o s SV O 0F  eeve 0 WS O 0F  eeve = WS Q 0FE  eece 0 Rows
AE [= ] (a1 o 4
2FE < -2 <-2F < -2F
-8 E -3 -3 E -3E
-4 AT6T, 22 A8 A6 T, 22 -] AT6T 2 A 540 0020 A6 UE TTZTA] 61.822.2223
4 Time phase w4 Time phase o 4 Time phase w4 Time phase
3 [+ COL5 oy £ 3EY+ COLS 7o £ 53 fX-COL 5 oy £ sEY-COL5 FowD
21 : 28“2 = 21 : ROW 2 = 21 : ROW2| 3 21 : ROW 2
0FE oo —ROw 3| 8 0FE oo __eal-ROW3 8 of o= —ROW 3| 8 0E oo o —RowW 3
2F < 2 <-2F < 2f
. -3 -3 E -3E
- 4161, 22, A% A6 T, 22 -A. AT6T: K A 5.40:2-00:2040:608 T 12141 61.82 2224
a Time phase @ 4 Time phase w4 Time phase " 4 Time phase
3 [+ COL 6 rows| = 3fY+COLG ~owy| £ 3[-COL6 rowi| £ 3fY-COL6 WD
3 oy 3O el 3 aF o 3 3 B
A : 00 e A " a a : * 0 A _1: 00 0e >
2F < <-2F < -2F
. -3 E -3E
E ATHT 2. g B EaRR 2. “A540.200:20-20608 T 12T 61822223
a Time phase @ 4 w4 Time phase " 4 Time phase
3 EX+ COL 7 ony] = 3f[Y+COL7 —ond] = 3 fX-COL7 —rowg = 3f[y-COL7 on
o i3 5 o | 5 3 iy 5 G B
. ssl= [&] . —e O . = Q .
% a % al a %
2F < <-2F < -2f
SE 3E -3E
-4- AUZ-U0. 04008 TT.2.41.61.8 2 2.2Z2.4 -4- 4101, /R -4- 4U.2-U0.20.40.bU.8 TT.2T1.41.61.82 2.22.4
4 Time phase w4 Time phase  ~ , Time phase
3a+ COL 8 oW = 3EY+ COL 8 FOWD] = 3 EK- COL 8 [FFoWY = SE|!- COL 8 [-Fowe
28 Crows 5 2F Cowe| 5 2F Crowd 5 2F ow 2
JE cose _ROW 3 3 JE _ROW 3 3 JE cose L _ROW 3 3 JE cove - _ROW 3
-1E b Q Q -1E Q -1E
2E < <-2F < -2F
3E 3E 3E
-4 AT6T. 2. -4 ATHT 2 A5 4027002020608 TTZT AT 61.82 2.22.4
4 Time phase " 4 o 4 Time phase w4 Time phase
3 fX+ COL 9 “on| £ 3fiy=CoL9 —owo) £ 5 [X-COL9 o £ 3fY-coLe o
] e B R S| R
0F SiSUL NSRS oe S ook — oo SiSuk NSRS s
1 a - * Q-1 * a1 *
2E < -2 <-2F < -2f
3E -3 3E -3
A D20 270 U2 A TR T T2 416182 224 -4 A6 T 22 -A. E:ARR 2 A5 402-0020 205608 TT2T AT 61822222
a Time phase « 4 Time phase @ 4 Time phase " 4 Time phase
SEK+ COL 10 ‘zgm’ = 3fY+COL 10 OW0] = 3 fX- COL 10 A = SE|!-COL10 [-owo
2 E = c oF —ROW 1 c o F —ROW 1| "= 2F —ROW 1
1E ROW 2| =1 1E ROW 2 =1 1E ROW 2| =1 1E ROW 2
01 ] cooe —ROW 3| 8 0E oo o _ROW 3 8 0E —ROW 3| 8 01 ] cose o _ROW 3
2E < <-2F < 2f
3E . -3
-4 = -4 m‘mwmﬁm
4 » 4 @ » 4 ime ase
SE|X+ COL 11 —gga? = 3HY+ COL 11 oW Ol o = SE!-COLﬂ —ow o
i c —ROW 1 c c —ROW 1
aE rowe| 5 3F row2| 5 5 3F ROW 2
3 _ROW 3] 3 _ROW 3 3 _ROW 3
0E —s 0o . o O 0F
1 a - * =t a-f *
2F < -2 < < -2F
3E -3 -3E
-4 -4
“Time phase "Time phase “Time phase “Time phase




T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, HEX8]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] statistics for Pedestal FWHM [Gain index 5]
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T01-FM109 pre-CU Pedestal Position [Gain index 5]
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T01-FM109 pre-CU Pedestal FWHM [Gain index 5]
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ADC units

ADC units

ADC units

ADC units

12

S s e e S X121

12

L s S i B S S =

12

) s e e e . 21

24

: : : : : : : o LEX8
X+ 5 5 5 5 5 5 : [eLEXI
: : : : : : : HEXg

L 0 A AR S S 113 2

I : :
o ; :
S0t 00t 4es®e0g00

.....................................................................................

%%%%%?%%%%? \5%‘%\*\‘%%

22
20
18
16
14
12
10

8

6
4

=LEX8
- LEX1

HEXS
- HEX1

30 35 40 45
Channel

oo

10

12
ADC units

o| EX8
o LEX1

HEX8

%% % %% %% e % %% % B h BBt N b N %% % kb %Nt bt et N N % %%

oo Lo e Ly Lo b L L aa Laa o a o

14

12

10

- LEX8
- LEX1

HEXS
- HEX1

0 5 10
Channel

=10

=72
ADC units

: : : : : : : o EX8
X' H H H : : : : o LEX1
HEX8

] R L s
= ° : () : oo.é. ooé 'Yl : . H E
e ®®ecoe oo e :® ..‘ﬂ.o.';o.o‘do‘..d.'

.....................................

.........................................

.....................................................................................

2% %%$%$%%$%%%%i%%%%i%%%$$$\\%$$$%$§$% %;\5\\$$$

=LEX8
- LEX1

HEX8
~HEX1

@

i

0 5 10 15 20 25 30 35 40

Channel

OO

BEL

2
ADC units

: : : . . . . ®o| EX8
Y- ; ; ; ; ; ; t |eLEXT
: : HEX8

%% %% %% %% %o b % % %ok e % % b % e b % % %t % %%t e N e W e % k%%

18
16
14
12

10

N B O =]

= EX8
- LEX1

HEXS
- HEX1

oo 10 v 1w by b b b b I 1

0 5 10 15 20 25 30 35 40
Channel

oo

70

T2
ADC units



[TO1-FM109 Test 2]

[pre-CU] mc_asymLL.050407015921_0_FM109_Pshp_calu_collect_ext.txt [ 25.0C]

[CUold] muonAsym.330000866_BT13_IDEAL_digi_TO01.txt [ 25.0C]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO01.txt [ 25.0C]




T01-FM109 TIME EVOLUTION [Reference=pre-CU] for Asymmetry-LL R-L [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] statistics for MeV per DAC - LARGE [Gain index 5]
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[TO1-FM109 Test 6]

[pre-CU] mc_mpdLarge.050407015921_0 FM109_Pshp_calu_collect_ext.txt [ 25.0C]
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[TO1-FM109 Test 6]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T01.txt [ 25.0C]




T01-FM109 CUold MeV per DAC - LARGE [Gain indeXx 5]
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[TO1-FM109 Test 6]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO01.txt [ 25.0C]




T01-FM109 CUnew MeV per DAC - LARGE [Gain index 5]
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[TO1-FM109 Test 7]

[pre-CU] mc_mpdSmall.050407015921_0_FM109_Pshp_calu_collect_ext.txt [ 25.0C]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_TO1.txt [ 25.0C]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO01.txt [ 25.0C]




T01-FM109 TIME EVOLUTION [Reference=pre-CU] for MeV per DAC - SMALL [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=pre-CU] statistics for MeV per DAC - SMALL [Gain index 5]
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[TO1-FM109 Test 7]

[pre-CU] mc_mpdSmall.050407015921_0_FM109_Pshp_calu_collect_ext.txt [ 25.0C]




T01-FM109 pre-CU MeV per DAC - SMALL [Gain index 5]
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[TO1-FM109 Test 7]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T01.txt [ 25.0C]




T01-FM109 CUold MeV per DAC - SMALL [Gain index 5]
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[TO1-FM109 Test 7]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO01.txt [ 25.0C]




T01-FM109 CUnew MeV per DAC - SMALL [Gain index 5]
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